
à. Imbrb n¶m©¶mn¡H$ s AmH$ mamZo gdm©V A{Vgyú‘ H$ moU?

OrdmUy {dfmUy Am{XOrd H$ dHo$

à. g{MZbm nmÊ¶mMr ^rVr dmQ>Vo, Vmo A{Ve¶mo³Vr H$ aV dmJVmo ¶m bjUmdê$ Z g{MZbm ----- amoJ Pmbm Agmdm.

ao~rO S> |½¶y ES²>g H$ H©$ amoJ

à. ‘°‘moJ«m’$ s, ~m¶ßgr, b°àmoñH$ m°nrH$ gO©ar ¶m CnMma nX²YVr --------- ¶m amoJmda dmnaVmV.

j¶ H$ H©$ amoJ ES²>g öX¶{dH$ ma

à. {dYmZ - OoZo[aH$ Am¡fYo hr ñdñV AgVmV.

{dYmZ - OoZo[aH$ Am¡fYo ~«°ÝS> oS> Am¡fYm§À¶m g‘H$ j d Ë¶mM XOm©Mr AgVmV.

’$ ³V {dYmZ gË¶ ’$ ³V {dYmZ gË¶

’$ ³V {dYmZ AgË¶ {dYmZ d XmoÝhr gË¶

à. ------ ho CnH$ aUo Am{H©$ {‘{S>OÀ¶m VËdmda AmYm[aV Amho.

Xþ½YVm‘mnr hdmXm~‘mnr

A°‘rQ> a ìhmoëQ> > ‘rQ> a

1

1. 2. 3. 4.

2

1. 2. 3. 4.

3

1. 2. 3. 4.

4

1. 2.

3. 4.

5

1. 2.

3. 4.

Which of the following option have smallest size?

[Bacteria] [Virus] [Protozoa] [Fungi]

Sachin have hydrophobia, he shows extreme fear for water, from these symptoms it seems that

Sachin have --------

[Rabies] [Dengue] [Aids] [Cancer]

Mammography, Biopsy, Laproscopic surgery methods are used for --------- disease.

[T.B.] [Cancer ] [Aids] [Heart diseases]

A

[SentenceA- Generic medicines are cheaper]

B

[Sentence B - Generic medicienes are at par in quality with branded medicines]

A [Only sentenceATrue] B [Only sentence B True]

B [Only sentence B Fails] A B [Both sentencesA& B True]

---------- Instrument is based onArchemedes principal.

[Lactometer] [Barometer]

[Ameter] [Voltmeter]

OZgodm gm‘m{OH$  e¡j{UH$  à{Vð> mZ Ah‘XZJa

B¶ËVm - dr

narjm H«$ . -

8 {XZm§H$  -
JwU -
doi - Vmg {‘{ZQ> o

17/3/2019

150

1 30

{dÚmÏ¶mªZm gyMZm …-

XmoZ JwU

{ZJo{Q> ìh JwU nÜXVr bmJy Zmhr.

1.

2.

3.

4.

5.

6.

1.

1. 2. 3. 4.

1. 2. 3. 4.

7.

8.

CËVao doJù¶m CËVan{ÌHo$ da {bhmd¶mMr AmhoV.
gXa àíZn{ÌHo$ V àíZ A{Zdm¶© AmhoV. àË¶oH$ AMyH$ CËVamg Amho.
àË¶oH$ àíZmbm Mma n¶m©¶r CËVao gwM{dbr AmhoV. Ë¶mn¡H$ s ¶mo½¶ Vmo CËVamMm H«$ ‘m§H$ CËVan{ÌHo$ V N> m¶m§{H$ V H$ amdm.
Ë¶mgmR> r H$ mù¶m qH$ dm {Zù¶m emB©Mm ~m°bnoZ dmnamdm.
EH$ Xm Z‘yX Ho$ bobo CËVa ImoS> Vm ¶oUma Zmhr, Vgo Ho$ ë¶mg Vnmgbo OmUma Zmhr.
EH$ mM àíZmMo EH$ mnojm OmñV Jmob N> m¶m§{H$ V Ho$ ë¶mg Vmo àíZ Vnmgbm OmUma Zmhr.
CËVa {b{hÊ¶mMr ¶mo½¶ nÜXVr CXm.
àíZ ---------- earamVrb gdm©V ‘moR> r J«§Wr Amho.

ñdmXþqnS> Wm¶am°p³gZ ¶H¥$ V bmbmoËnmXH$ J«§Wr
CËVa …
KmB©‘wio MwH$ m hmoUma ZmhrV ¶mMr XjVm ¿¶mdr. doioMo {Z¶moOZ H$ amdo.

75
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g§M{bV
S> m°. gr. ìhr. am‘Z ~mbd¡km{ZH$  narjm - 2019

(1)



à. gVa§Or ------ ‘wio Ywi‘w³V hmoVo.

JVrMo OS> Ëd {dam‘ AdñWoMo OS> Ëd

{XeoMo OS> Ëd g§doJ

à. OhmO nmÊ¶mda Va§Jy eH$ Vo H$ maU ------

OhmOmMr KZVm nmÊ¶mnojm H$ ‘r AgVo.

OhmOmZo ~mOybm T> H$ boë¶m nmÊ¶mMo dOZ OhmOmÀ¶m dOZmnojm OmñV AgVo.

OhmOmÀ¶m nmÊ¶mV ~wS> mboë¶m ^mJmMo dOZ Ë¶mZo ~mOybm gmaboë¶m nmÊ¶mÀ¶m dOZmBVHo$ AgVo.

OhmOmZo ~mOybm gmaboë¶m nmÊ¶mMo dOZ nyU© OhmOmÀ¶m dOZmBVHo$ AgVo.

à. ÜdZrMo àgmaU gdm©{YH$ doJmZo ------- ‘Ü¶o hmoVo.

hdm nmUr bmoI§S> r giB© {Zdm©V

à. Imbrbn¡H$ s H$ moUVo {dYmZ ~amo~a Amho?

dma§dm[aVoMo EH$ H$ hQ> ©P Amho.

ÜdZrMr nmVir S> o{g~b ¶m EH$ H$ mV ‘moOVmV.

EH$ {dabZ Am{U EH$ g§nrS> Z {‘iyZ Va§JmMo EH$ AmdV©Z V¶ma hmoVo.

gd© n¶m©¶ ~amo~a

à. ----- ho KQ> nwZ… à^m[aV H$ aVm ¶oVmV.

{b{WA‘ Am¶Z {dXçwV KQ> {ZHo$ b H°$ S> {‘A‘ KQ>

boS>-Amåb {dXçwV KQ> gd© n¶m©¶ ~amo~a

à. {dXçwVK§Q> o ‘Ü¶o ------ Mw§~H$ dmnaVmV.

nQ²> Q> r Mw§~H$ {dXçwV Mw§~H$

MH$ Vr Mw§~H$ H$ m¶‘ Mw§~H$

à. ------ AndmX dJiVm gd© AUyÀ¶m H|$ ÐH$ mV Ý¶yQ´> m°Z AgVmo.

S> ¶wQ> o[aA‘ {Q´> [Q>A‘

hm¶S´> moOZ darb gd©

à. ê$ Xa’$ moS> ©À¶m à¶moJmVrb H$ Um§À¶m {dH$ saUmZo gd© àW‘ AUybm ------- AgVo ho Xe©{dbo.

H|$ ÐH$ Bbo³Q´> m°Z

àmoQ> m°Z Ý¶yQ´> m°Z

6

1. 2.

3. 4.

7

1.

2.

3.

4.

8

1. 2. 3. 4.

9

1.

2.

3.

4.

10

1. 2.

3. 4.

11

1. 2.

3. 4.

12

1. 2.

3. 4.

13

1. 2.

3. 4.

Cleaning of dust from carpet is due to -----------

[inertia of motion] [inerrtia of rest]

[inertia of direction] [momentum]

Ship floats on water because -----------

[Density of ship is less than the water.]

[Weight of displaced water is greater than the weight of the ship.]

[Weight of the immersed part of the ship is equal to the weight of the displaced water.]

[Weight of displaced water is equal to the weight of whole ship.]

Sound travels fastest in --------

[Air] [Water] [Iron rod] [Vaccum]

Which of the following statements are correct?

[The unit of frequency is hertz]

[Loudness of sound is measured in deciBel.]

[One compression and one rarefaction together forms one cycle of wave.]

[All of these]

--------- cells can be recharged.

[Lithium ion cells] [Ni - cd cell]

[Lead -Acid cell] [All of these]

In Electric Bell ------------ magnet is used.

[Bar magnet] [Electro magnet]

[Disc magnet] [Perment magnet]

Neutrons are present in the nucleus of all atoms, except ----------

[deuterium] [tritium]

[hydrogen] [all of these]

Rutherford’s experiment on scattering of particles showed for the first time that the atom have --------

[nucleus] [electron]

[proton] [neutron]

α

α

(2)
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à. {Xboë¶m AmH¥$ VrVrb AUwàmê$ n H$ moUVo?

Wm°‘gZMo AUwàmê$ n ê$ Xa’$ moS> ©Mo AUyàmê$ n

~moaMo AUwàmê$ n ¶mn¡H$ s Zmhr

à. g§¶wOm Agbobo ‘ybÐì¶o ho -------

Zoh‘rM YmVy AgVmV.

Zoh‘rM AYmVy AgVmV.

Zoh‘rM YmVwgÑí¶ AgVmV.

EH$ Va YmVy qH$ dm AYmVy AgVmV.

à. ¶m YmVyÀ¶m ³bmoamBS>Mo gyÌ Agë¶mg YmVyMr g§¶wOm -------

à. g§{‘l … g‘m§Jr {‘lU …… {Zb§~Z … -------

g§¶wJ aoUy

{df‘m§Jr {‘lU H$ {bb

à. Imbrbn¡H$ s H$ moUVm AYmVy {dOoMm CËV‘ gwdmhH$ Amho?

{ham J«°’$ mBQ> {g{bH$ m°Z Mm§Xr

à. H°$ aoQ> gmoÝ¶m‘Ü¶o gw‘mao ------- AewX²YrMm g‘mdoe AgVmo.

à. ñdñV qH$ ‘VrÀ¶m ñQ> oZbog ñQ> rb ^m§S> çm§Zm Cä¶m {Mam nS>VmV H$ maU Ë¶m‘Ü¶o ---

‘hmJ H«$ mo{‘A‘ EodOr Vm§ã¶mMm dmna H$ aVmV.

‘hmJ {ZHo$ b EodOr A°ë¶w{‘{ZA‘Mm dmna H$ aVmV.

‘hmJ {ZHo$ b EodOr Vm§ã¶mMm dmna H$ aVmV.

darb gd©

à. Imbrbn¡H$ s H$ moUVo h[aVJ¥h dm¶y AmhoV?

darb gd©

à. Imbrbn¡H$ s H$ moUVo dm¶y Amåbdfm}g H$ maUr^yV Amho?

gë’$ a S> m¶Am°³gmB©S> d Zm¶Q´> moOZ S> m¶Am°³gmB©S>

H$ m~©Z S> m¶Am°³gmB©S> d gë’$ a S> m¶Am°³gmB©S>

H$ m~©Z ‘moZmo³gmB©S> d H$ m~©Z S> m¶Am°³gmB©S>

Zm¶Q´> moOZ S> m¶Am°³gmB©S> d H$ m~©Z S> m¶Am°³gmB©S>

14

1. 2.

3. 4.

15 1

1.

2.

3.

4.

16

1. 2. 3. 4.

17

1. 2.

3. 4.

18

1. 2. 3. 4.

19 22

1. 2. 3. 4.

20

1.

2.

3.

4.

21

1. 2. 3. 4. [

22

1.

2.

3.

4.

Which model of an atom is depicted by the given figure?

[Thomson’s model of an atom] [Rutherford’s model of an atom]

[Bohr’s model of an atom] [None of these]

Elements with valency 1 are -----------

[always metals]

[always non metals]

[always metalloids]

[either metals or non metals]

M MCl

The formula of chloride of metal M is MCl then the valency of M metal is ---------

1 2 3 0

Alloy : Homogeneous mixture :: Suspension : ---------

[Compound] [Molecule]

[Hetrogeneous] [Colloid]

Which of the following non metal is a good conductor of electricity?

[Diamond] [Graphite] [Silicon] [Silver]

22 carat gold contains approximately --------- impurities.

91.66 % 100 % 8 % 25 %

Cheap variety of stainless steal have vertical cracks due to ------------

[Use of copper instead of costly chromium]

[Use of aluminium instead of costly nickel]

[Use of copper instead of costly nickel]

[All of the above]

Which of the following is a greenhouse gas?

CO CH CFC All of these]

Which of the following gases are responsible for acid rain?

[Sulphur dioxide & Nitrogen dioxide]

[Corbon dioxide & Sulphur dioxide]

[Carbon monoxide & Carbon dioxide]

[Nitrogen dioxide & Carbon dioxide]

3

3

2 4

(3)

++

+
+- -
-

-

-

YZ à^ma Jmob
[positive sphere]

Bbo³Q´> m°Z [Electron]
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à. ^yH§$ nmMr Vrd«Vm ‘moOÊ¶mgmR> r ------- ¶m EH$ H$ mMm dmna H$ aVmV.

goñ‘moJ«m’$ goñ‘mo‘rQ> a

[aíQ> a ñHo$ b darb gd© n¶m©¶

à. Imbrbn¡H$ s MyH$ sMr OmoS> r AmoiIm.

bmb Q> mo‘°Q> mo-bm¶H$ monrZ {hado nmZ-³bmoamo{’$ b

JmOa-H°$ amoQ> rZ Om§^yi-P°ÝWmo{’$ b

à. Imbrbn¡H$ s H$ moUVo H$ m¶© [ap³VH$ mMo Zmhr?

gmR> dUo

noerbm VmR> aVm d ÑT>Vm XoUo

noerMm namgaUr¶ Xm~ {Z¶§{ÌV R> odUo

AmË‘KmVr {neì¶m

à. ------ ¶m a³V JmoR> dÊ¶mÀ¶m {H«$ ¶o‘Ü¶o ^mJ KoVmV.

bmo{hV a³Vnoer ídoV a³VH$ {UH$ m

a³VnQ²> Q> rH$ m darb gd© n¶m©¶

à. a³VJQ> mMm emoY ------ ¶m§Zr bmdbm.

{S> H$ moñQ> obmo Am{U ñQ>bu S> m°. H$ mb© b±S> ñQ> oZa

am°~Q> © hþH$ ES> dS> © OoÝZa

à. Imbrb {dYmZmn¡H$ s gË¶ {dYmZ H$ moUVo?

a³VXmZ H$ aVmZm/Ho$ ë¶mZ§Va H$ moUVmhr Ìmg hmoV Zmhr.

dfm}darb {ZamoJr ì¶³Vr dfm©VyZ doim a³VXmZ H$ ê$ eH$ Vo.

a³VXmZmgmR> r EH$ mdoir EH$ ì¶³VrMo {‘br a³V KoVbo OmVo.

darb gd©

à. A°{g{S> Q> r (Amåbr¶Vm) H$ ‘r hmoÊ¶mgmR> r {Xë¶m Joboë¶m Am¡fYm§‘Ü¶o ----- Mm g‘mdoe AgVmo.

{dab {dab

à. nmÊ¶mMm CËH$ bZm§H$ --------

darb gd©

à. XmoZ gnmQ> Amaem‘Ü¶o H$ moZ Ho$ ë¶mg Ë¶m‘Ü¶o R> odboë¶m nXmWm©À¶m à{V‘m ------ V¶ma hmoVrb.

23

1. 2.

3. 4.

24

1. 2.

3. 4.

25

1.

2.

3.

4.

26

1. 2.

3. 4.

27 AB

1. 2.

3. 4.

28

1.

2.

3.

4.

29

1. 2.

3. 4.

30

1. 2. 3. 4.

31 36

36

1. 2. 3. 4.

Earthquake intensity is measured in ------------

[Seismograph] [Seismometer]

[Richter scale] [All of these]

Which of the following is incorrect pair.

[Red tomato-Lycopene] [Green leaf-Chlorophyll]

[Carrot-Carotene] [Java plum-Xanthophyll]

Which of the following is not a function of vacuole?

[storage]

[providing turgidity and rigidity to the cell]

[to maintain the osmotic pressure of the cell]

[suicide bags]

----------- participate in blood clotting process.

[R B C] [W B C]

[Platelets] [All of these]

AB bloodgroup is discovered by -----------

[Decastello and Sturli] [Dr. Carl Landsteiner]

[Robert Hooke] [Edward Jenner]

Which of the following is a correct sentence?

[There is no trouble during or after the blood donation]

18 3-4

[Healthy person of age above 18 years can donate the blood for 3-4 times a year.]

350

[About 350 ml of blood is collected from a person during donation.]

[All of the above]

Medicine given for reducing acidity cotain ---------

HCl [dilute HCl] H SO4 [dilute H SO4]

[Mg(OH) ] [NaCl]

The Boiling point of water is -------------

373 K 100 C 212 F [All of these]

The number of image formed when two plane mirrors are placed at an angle of is -------

10 7 8 9

2 2

2

0 0

0

0

(4)
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à. Imbrbn¡H$ s H$ moUË¶m nXmWm©Mr {d{eï> Cî‘mYmaH$ Vm gdm©V OmñV Amho?

nmam nmUr

AëH$ mohmob bmoI§S>

à. AmnVZ H$ moZ Agbobm àH$ me{H$ aU AmaemnmgyZ namd{V©V hmoV AgVmZm Amaemer {H$ Vr A§emMm H$ moZ H$ aob?

à. n[aXeu‘Ü¶o ------ Mm Cn¶moJ H$ aVmV.

H°$ {bS> moñH$ mon ‘m¶H«$ moñH$ mon

no[añH$ mon n¶m©¶ d

à. n¶m©daU àXÿfUmnmgyZ ~Mmd H$ aÊ¶mH$ arVm àË¶oH$ gwOmU ZmJ[aH$ mZo ----- {gX²Ym§VmMm Cn¶moJ H$ aUo JaOoMo Amho.

à. Imbrbn¡H$ s H$ moUVr nm[aVmo{fHo$ ga gr.ìhr. am‘Z ¶m§Zr nQ> H$ mdbr?

^maVaËZ am°¶b gmogm¶Q> rMr ’o$ bmo{en

Zmo~ob nm[aVmo{fH$ darb gd©

à. nXmW© {dkmZ d agm¶ZemñÌ ¶m XmoÝhr {df¶mVrb Zmo~ob nm[aVmo{fH$ {‘idUmao emñÌk H$ moU?

S> m°. gr.ìhr. am‘Z S> m°. H$ ënZm Mmdbm

‘oar ³¶yar noar ³¶yar

à. ^maVr¶ AdH$ me g§emoYZ g§ñWoÀ¶m {dH$ mg H$ m¶m©V ------ Mo ¶moJXmZ Iyn ‘moR> o Amho.

S> m°. gr.ìhr. am‘Z S> m°. H$ ënZm Mmdbm

S> m°. E.nr.Oo. H$ bm‘ S> m°. hmo‘r ^m^m

à. Imbrbn¡H$ s H$ moUVo nwañH$ ma hmo‘r ^m^m ¶m§Zm {‘imbo AmhoV?

darb gd©

à. S> m°. H$ ënZm Mmdbm ¶m§Zr ------- AdH$ me ¶mZmVyZ àdmg Ho$ bm.

H$ mob§{~¶m JJZ¶mZ

{S> ñH$ ìhar$ ¶wamonm

à. nmoIaU Zm{^H$ s¶ MmMUr Ho$ ìhm Pmbr?

à. ^maVmMo àñVm{dV gm¡a {‘eZ H$ moUVo?

Am{XË¶ Zm{dH$

Mm§Ð¶mZ JJZ¶mZ

32

1. 2.

3. 4.

33

1. 2. 3. 4.

34

1. 2.

3. 4. 1 3

35

1. 2. 3. 4.

36

1. 2.

3. 4.

37

1. 2.

3. 4.

38

1. 2.

3. 4.

39

1. 2.

3. 4. [

40

1. 2.

3. 4.

41

1. 2. 3. 4.

42

1. 2.

3. 4.

Which of the following substance have maximum specific heat?

[Mercury] [Water]

[Alcohol] [Iron]

50

What angle will the reflected ray make with the mirror if the angle of incidence is 50 ?

50 90 40 0

------------- is used in submariane.

[kaleidoscope] [microscope]

[periscope] [option 1 & 3]

Each responsible citizen should follow the ----------- principle to save the environment from pollution.

3 G 4 G 4 R 4 P

Which of the following has been awarded to sir C.V. Raman?

[Bharat Ratna] [Fellow of the Royal Society]

[Nobel Prize] [All of the above]

Which scientist have own noble prize in both physics as well as in chemistry?

[Dr. C.V. Raman] [Dr. Kalpana Chawala]

[Marie Curie] [Pierre Curie]

---------- have given grand contribution in the development of indian space research organsation.

[Dr. C.V. Raman] [Dr. Kalpana Chawala]

[Dr.A.P.J. Kalam] [Dr. Homi Bhabha]

Which of the following awards has been given to Homi Bhabha?

Adams prize Padma bhushan

Fellow of the royal society All of the above]

Kalpana chawala has traveled in -------- space shuttle.

[Columbia] [Gaganyaan]

[Discovery] [Europa]

2

When did Pokharan 2 nucler test took place?

1974 1998 1995 1976

Which is india’s proposed solar mission?

[Aditya] [NAVIC]

[Chandrayaan] [Gaganyaan]

0

0

0 0 0 0

(5)
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à. OmJ{VH$ H$ H©$ amoJ {XZ ----- ¶m {Xder AgVmo.

’o$ ~«wdmar ’o$ ~«wdmar

{S>g|~a> {S>g|~a

à. ñdÀN> gd}jU 2019 AÝd¶o ------ eha KZH$ Mam ì¶dñWmnZmV XoemV n{hbo Ambo?

bmVya Ah‘XZJa nwUo Zm{eH$

à. Ý¶yQ´> m°ZMm emoY H$ moUr bmdbm?

M°S> {dH$ ê$ Xa’$ moS> © Ý¶yQ> Z E{S>gZ

g§»¶m‘m{bHo$ Vrb nwT> rb g§»¶m emoYm.

à.

à.

Aja‘m{bHo$ V nwT> o ¶oUmao nX emoYm.

à.

à.

nwT> rb àíZmVrb nXm§‘Yrb ghg§~§Y AmoiIyZ àíZ{MÝhmÀ¶m OmJr ¶oUmao nX AmoiIm.

à.

à.

nwT> rb àíZmVrb n{hë¶m d Xþgè¶m nXmMm Ogm g§~§Y Amho VgmM {Vgè¶m d Mm¡Ï¶m nXm§Mm EH$ ‘oH$ m§er Amho. ¶mdê$ Z Mm¡Wo

nX n¶m©¶m§VyZ AmoiIm.

à.

43

1. 2.

3. 4.

44

1. 2. 3. 4.

45

1. 2. 3. 4.

46

1. 2. 3. 4.

47

1. 2. 3. 4.

48

1. 2. 3. 4.

49

1. 2. 3. 4.

50 1. 2.

3. 4.

51

1. 2. 3. 4.

52

1. 2. 3. 4.

World cancer day is observed on ----------

4 [4 February] 10 [10 February]

1 [1 December] 10 [1 December]

According to swaccha sarvekshen 2019 --------- city came first in solid waste management in india.

[Latur] [Ahmednagar] [Pune] [Nasik]

Who invented neutron?

[Chadwick] [Rutherford] [Newton] [Edison]

th th

st th

For Q. 46 & 47

For Q. 48 & 49

For Q. 50 & 51

For Q. 52 & 53

Find the next number of the given sequence of numbers.

12 , 23 , 47 , 93 , 187 , ---------

374 375 371 373

0 , 7 , 26 , 63 , 124 , -----------

186 215 191 338

Find the missing term.

K , N , Q , T , -------

W T X M

HFJ , MKO , RPT , WUY , ---------

KIN YWZ OMQ CAD

Identify the pattern to find the missing term accordingly.

16 P 5 E

15 F 13 M

80 98 75 27

Observe the relation between first and second term and find the fourth term.

Bread : Wheat :: Brick : ?

Clay Fire Water Building

(6)

8 H 4 D ?

16 P 3 C 1 A

2 B 12 L 16 P

?
7

7

40
8 5

4 5

60
9 6

4 6

10

3
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à.

JQ> mV Z ~gUmao nX AmoiIm.

à.

à.

à. KZmH¥$ Vr R> moH$ içmÀ¶m XmoZ pñWVr gmo~V XmIdboë¶m AmhoV ¶mdê$ Z XmoZ {R> nHo$

Agboë¶m n¥ð> mÀ¶m {dê$ X²Y n¥ð> mda {H$ Vr {R> nHo$ AgVrb?

à. à^mH$ aÀ¶m ’$ moQ> moH$ S> o nmhÿZ hf© åhUmbm, ¶mMr AmB© ‘mÂ¶m d{S>bm§À¶m ‘wbmMr ~m¶H$ mo AmhoM, ‘mÌ ‘bm ^mD$ ~hrU

ZmhrM. Va hf© H$ moUmÀ¶m ’$ moQ> moH$ S> o nmhV Amho?

Ë¶mÀ¶m ‘wbmÀ¶m Ë¶mÀ¶m MwbV^mdmÀ¶m

Ë¶mÀ¶m nwVÊ¶mÀ¶m Ë¶mÀ¶m MwbË¶mÀ¶m

à. Imbrb AmH¥$ VrVrb {ÌH$ moUm§Mr g§»¶m {H$ Vr?

à. EH$ m gm§Ho$ {VH$ ^mfoV ho Ago

{b{hVmV Va Ë¶m gm§Ho$ {VH$ ^mfoV H$ go {bhmb?

Imbrb doZ AmH¥$ VrMo {ZarjU H$ ê$ Z {dMmaboë¶m àíZm§Mr CËVao Úm.

à. {H$ Vr H$ m‘Jma {e{jV AmhoV?

53

1. 2. 3. 4.

54 1. 2. 3. 4.

55 1. 2. 3. 4.

56

1. 2. 3. 4.

57

1. 2.

3. 4.

58

1. 2. 3. 4.

59

1. 2. 3. 4.

60

1. 2.

3. 4.

23 : 13 :: 32 : ?

30 13 36 40

Choose the term that is different from the other.

29.2.1900 30.3.1800 31.12.1700 30.9.1600

FB CD AL GE

Two positions of a dice are shown below. When there are two dots at the bottom, the number of dots at

the top will be -

2 3 5 6

“

”

Looking at a portrait of Prabhakar, Harsh said “His mother is the wife of my father’s son. Brothers and

sister I have none.At whose portrait was Harsh looking?

[His son] [His cousin]

[His uncle] [His nephew]

Count the number of triangles in the following figure?

15 16 17 18

SHEVGAON - 198522711514 , NEVASA - 145221191 , AKOLE - 11115125

RAHURI

In a code language, if SHEVGAON is written as - 198522711514 , NEVASAis written as - 145221191

AKOLE is written as - 11115125 then how will written RAHURI?

818121189 181821189 171721198 111215135

Observe the venn diagram and answer the following questions.

How many employees are educated?

4 3

7 12

For Q. 54 & 55

For Q. 60 to 63

3

(7)

7
5

4 3

8

2

7

Youth

Employed

Educated

B. - dr8



à. {H$ Vr Vê$ U H$ m‘Jma AmhoV?

à. A{e{jV ~oamoOJma Vê$ Um§Mr g§»¶m {H$ Vr?

à. {e{jV H$ m‘Jma Vê$ Um§Mr g§»¶m {H$ Vr?

à. àUmbr {R> H$ mUmhÿZ CËVaoH$ S> o ‘r. A§Va MmbV {R> H$ mUr Jobr. Z§Va A§emV COì¶m ~mOyZo diyZ nwÝhm ‘r

MmbV OmD$ Z {R> H$ mUr nmohMbr. Z§Va nwÝhm A§emV S> mì¶m ~mOybm diyZ ‘r. MmbV OmD$ Z ¶m {R> H$ mUr

nmohMbr. Va d ¶m {R> H$ mUm§‘Yrb {H$ ‘mZ A§Va {H$ Vr?

à. H$ mhr C§Q> Am{U Ë¶m§Mo ‘mbH$ àdmgmbm {ZKmbo hmoVo. ‘mbH$ m§Mr g§»¶m C§Q> m§À¶m g§»¶oÀ¶m {Z‘nQ> hmoVr. EHy$ U ‘mbH$ m§n¡H$ s

EH$ MVwWmªe ‘mbH$ C§Q> m§À¶m nmR> rda ~gbo hmoVo Va Cd©[aV ‘mbH$ Amnë¶m C§Q> m§gmo~V Mmbbo hmoVo. nm¶r MmbUmè¶m

C§Q> m§À¶m d ‘mbH$ m§À¶m nm¶m§Mr g§»¶m Agob Va ‘mbH$ d C§Q> m§Mr EHy$ U g§»¶m {H$ Vr

à. EH$ m añË¶mÀ¶m ~mOyZo PmS> o bmdbobr AmhoV. n{hë¶m XmoZ PmS> m§Vrb A§Va ‘r. AgyZ Z§VaÀ¶m àË¶oH$ PmS> m§‘Yrb

A§Va ‘r. Zo dmT>V OmVo. Va n{hë¶m d eodQ> À¶m PmS> m§‘Yrb A§Va {H$ Vr?

Imbrb AmH¥$ Ë¶m§Mo {ZarjU H$ ê$ Z Ë¶mImbr {dMmaboë¶m àíZm§gmR> r Ë¶m§n¡H$ s ¶mo½¶ n¶m©¶ {ZdS> m.

à. gmoZo , YmVy , Xm{JZo

à. YmÝ¶ , Vm§Xÿi , Jhÿ

61

1. 2. 3. 4.

62

1. 2. 3. 4.

63

1. 2. 3. 4.

64

1. 2. 3. 4.

65

76

1. 2. 3. 4.

66 10 20

1

1. 2. 3. 4.

67

1. 2. 3. 4.

68

1. 2. 3. 4.

How many youths are employed?

4 2 6 9

How many youths are neither employed nor educated?

7 4 15 0

Count the youths those are educated and employed?

12 4 36 5

‘A’ 10 ‘B’ 180 16

‘C’ 90 8 ‘D’

A D

Pranali started to walk from point ‘A’ towards North and reached point ‘B’ after walking 10 m. Then she

turned right in 180 and walked 16 meters and reached point ‘C’. Again she turned in 90 to her left and

walked 8 meters, and reached point ‘D’. You have to calculate the minimum distance between ‘A’ and

‘D’.

10 m 34 m 14 m 24 m

?

A certain number of camels and their owners are going somewhere else. The owners are half of the

number of camels one forth owners on their camel back while the remaining ones are walking along

leading their camels. If the number of legs walking on the road is 76, Calculate the total number the

camels and their owners?

16 8 24 32

There are 10 plants planted by the roadside. The distance between first two plants is 20 m. After every

plant the distance is increased by one meter. Calculate the distance between the first and the last

plant.

126 140 300 150

Observe the following diagrams and indicate the correct option for the questions asked below.

Gold , Metal , Ornament

1 2 3 4

Grain , Rice , Wheat

1 2 3 4

0

0

0 0

For Q. 67 to 70

(8)

1 2 3 4

B. - dr8



5

72 3

13

177 11

29

?23 19

à. AmJJmS> r , ~g , Q> °³gr

à. ^y{‘Vr , B{Vhmg , Mm¡ag

Imbr {Xboë¶m ‘mJm©Mo {ZarjU H$ ê$ Z àíZm§Mr CËVao {bhm.

à. KamnmgyZ emion¶ªV OmVmZm {H$ Vr doim COdrH$ S> o dimdo bmJVo?

à. emioVyZ Kar ¶oVmZm ------ dimdo bmJVo?

doim S> mdrH$ S> o doim COdrH$ S> o

doim S> mdrH$ S> o doim COdrH$ S> o

doim S> mdrH$ S> o doim COrdH$ S> o

doim S> mdrH$ S> o doim COdrH$ S> o

àíZ{MÝhmÀ¶m OmJr ¶mo½¶ A§H$ ^am.

à.

à.

à.

69

1. 2. 3. 4.

70

1. 2. 3. 4.

71

1. 2. 3. 4.

72

1.

2.

3.

4.

73

1. 2. 3. 4.

74

1. 2. 3. 4.

75 1. 2.

3. 4.

Train , Bus , Taxi

1 2 3 4

Geometry , History , Square

1 2 3 4

Observe the route and answer the following question.

To reach school from home how many times one should turn his right ?

2 5 3 4

To return home from school one should turn ---------

4 4 [4 times left 4 times right]

5 3 [5 times left 3 times right]

3 5 [3 times left 5 times right]

8 8 [8 times left 8 times right]

Find the figure which can be put up at the point of question mark?

36 49 25 32

27 37 31 30

46 57

52 56

For Q. 71 & 72

For Q. 73 to 75

*******
(¶m àíZn{ÌHo$ Mr CËVa gwMr 4/5 {XdgmV ¶m do~gmB©Q> da CnbãY hmoB©b)(Answer Key) www.drcvramanexam.com

(9)

Home

School

16

1

25 36

16

2581 25

49

?

25

81 144

36

16

17 47 12

23538

8 30 ?

B. - dr8


